Proof of Fermat's last theorem (Part Il of IIl) a™ + b™ =c" (n>1
and odd)

Objet: Proof of Fermat's last theorem with conventional means.

Author: Romdhane DHIFAOUI (romdhane.dhifaoui@yahoo.fr).

Another way to approach research proof

a™ + b"=c"
(a+b)*=(+d)"

n n n n-1\ kpn—-k — -n n n n-1\ .k yn—-k
a+b+z (" Hakprk =c +d+z (" H)ckd
k=1 k=1
n-1 n—1
a + b" + Z (" H)akpE =" 4+ d™ 4+ z (") ckank
n-1 =1 n-1 =t
z (Tl’;l)akbn—k —d" + z (Tl’;l)ckdn—k
=t -1 kn=—11
dm" = zn (nlzl)akbn—k _z (nlzl)ckdn—k
k=1 k=1

dm" = zn_l(n—l)( akbn—k . den—k)
k=1 K

[ prove thatab-cd =(a-d) (b-d)
c=a+b—-d

ab—cd= ab—(a+b—d)d
ab—cd = ab—ad — bd + d"
ab—cd = a(b—d)—d(b—d)

ab—cd =(a—d)(b—d)



mailto:romdhane.dhifaoui@yahoo.fr

Forn=1,2o0r3

(c+d)!=(a+b)?
dl = a' + bt - !

dl = 0.

(c + d)? = (a + b)?

c? +2cd+ d? =a® + 2ab + b?
d?> =a’? + b?>—c? + 2ab — 2cd
d? =2ab — 2cd

d* =2(a—d)(b-d)

(c+d)3=(a+Db)3

c3 +3c%d +3cd? + d3=a +3a%b +3ab? + b3
d®> =a®+ b3 —c® + 3a%b + 3ab? — 3¢2d — 3cd?
d3 =3(a?b + ab” — c2d — cd®)

d3 =3(ab(a + b) — cd(c + d))

d3 =3(a+ b)(ab — cd)

d3 =3(a+ b)(a—d)(b—d)




